
 ØD BSPT
 4 R1/8 3175 04 10 
 4 R1/4 3175 04 13 
 4 R3/8   3175 04 17 
 6 R1/8 3175 06 10 
 6 R1/4 3175 06 13 
 6 R3/8 3175 06 17 
 6   R1/2   3175 06 21 
 8 R1/8 3175 08 10 
 8 R1/4 3175 08 13 
 8 R3/8 3175 08 17 
 8 R1/2 3175 08 21 
10 R1/8 3175 10 10 
10 R1/4 3175 10 13 
10 R3/8 3175 10 17 
10 R1/2 3175 10 21 
12 R1/4 3175 12 13 
12 R3/8 3175 12 17 
12 R1/2 3175 12 21 
14 R3/8 3175 14 17 
14 R1/2 3175 14 21

 ØD
  4 3106 04 00
  6 3106 06 00
  8 3106 08 00
 10 3106 10 00
 12 3106 12 00
 14 3106 14 00

 ØD
   4 3102 04 00
   6 3102 06 00
   8 3102 08 00
 10 3102 10 00
 12 3102 12 00
 14 3102 14 00

 ØD
   4 3104 04 00
   6 3104 06 00
   8 3104 08 00
 10 3104 10 00
 12 3104 12 00
 14 3104 14 00

 ØD1 ØD2
  4 6 3106 04 06 
  4 8 3106 04 08 
  6 8 3106 06 08 
  6  10 3106 06 10 
  8 10 3106 08 10 
  8 12 3106 08 12 
 10 12 3106 10 12 
 12 14 3106 12 14

 ØD BSPT
  4 R1/8 3675 04 10 
  4 R1/4 3675 04 13 
  6 R1/8 3675 06 10 
  6 R1/4 3675 06 13 
  8 R1/8 3675 08 10 
  8 R1/4 3675 08 13 
  8 R3/8 3675 08 17 
 10 R1/4 3675 10 13 
 10 R3/8 3675 10 17 
 12 R1/4 3675 12 13 
 12 R3/8 3675 12 17

 ØD BSPT
  4  R1/8 3609 04 10 
  6  R1/8 3609 06 10 
  6  R1/4 3609 06 13 
  8  R1/8 3609 08 10 
  8  R1/4 3609 08 13 
  8  R3/8 3609 08 17 
 10  R1/4 3609 10 13 
 10  R3/8 3609 10 17 
 12  R1/4 3609 12 13 
 12  R3/8 3609 12 17 
 12  R1/2 3609 12 21 
 14  R3/8 3609 14 17 
 14  R1/2 3609 14 21

 ØD
 4 3602 04 00
 6 3602 06 00
 8 3602 08 00
10 3602 10 00
12 3602 12 00

 ØD
 4 3604 04 00 
 6 3604 06 00 
 8 3604 08 00 
10 3604 10 00 
12 3604 12 00
14 3604 14 00

 ØD
 4 3606 04 00
 6 3606 06 00
 8 3606 08 00
10 3606 10 00
12 3606 12 00

 ØD BSPP/Metric
4 M5x0.8 3801 04 19
4 G1/8 3801 04 10
6 G1/8 3801 06 10

 ØD NPT/UNF

  5/32 10-32 3801 04 20
  5/32   1/8  3805 04 11
  3/16   1/8  3805 55 11
  3/16   1/4  3805 55 14
  1/4    1/8  3805 56 11
  1/4    1/4  3805 56 14
  5/16   1/8  3805 08 11
  5/16   1/4  3805 08 14
  3/8    1/4  3805 60 14
  3/8    3/8  3805 60 18
  1/2    1/4  3805 62 14
  1/2    3/8  3805 62 18
  1/2    1/2  3805 62 22

 ØD NPT/UNF
  5/32 10-32 3899 04 20
  5/32   1/8  3889 04 11
  3/16   1/8  3889 55 11
  3/16   1/4  3889 55 14
  1/4    1/8  3889 56 11
  1/4    1/4  3889 56 14
  5/16   1/8  3889 08 11
  5/16   1/4  3889 08 14
  3/8    1/4  3889 60 14
  3/8    3/8  3889 60 18
  1/2    1/4  3889 62 14
  1/2    3/8  3889 62 18
  1/2    1/2  3889 62 22

 ØD 
  4  3816 04 00  
  6 3816 06 00
  8 3816 08 00
 10 3816 10 00 
 12   3816 12 00

 ØD 
  4   3802 04 00
  6 3802 06 00
  8 3802 08 00
 10 3802 10 00
 12  3802 12 00

 ØD BSPP Meter Out Meter In
  4 G1/8 7060 04 10 7061 04 10
  6 G1/8 7060 06 10 7061 06 10
  6 G1/4 7060 06 13 7061 06 13
  8 G1/8 7060 08 10 7061 08 10
  8 G1/4 7060 08 13 7061 08 13
  8 G3/8 7060 08 17 7061 08 17
 10 G1/4 7060 10 13 7061 10 13
 10 G3/8 7060 10 17 7061 10 17
 12 G3/8 7060 12 17        -        
 12 G1/2 7060 12 21 7061 12 21

 C1   C2
  M5x0.8   M5x0.8 0921 00 19
  G1/8   R1/8 0913 00 10
  G1/4   R1/4 0913 00 13
  G3/8   R3/8 0913 00 17
  G1/2   R1/2 0913 00 21
  G3/4   R3/4 0913 00 27

 C1   C2
 G1/8  G1/8 0901 00 10
 G1/8  G1/4 0901 10 13
 G1/4  G1/4 0901 00 13
 G3/8  G3/8 0901 00 17

 C1   C2
 G1/8 M5x0.8 0168 10 19
 G1/4 M5x0.8 0168 13 19
 G1/4 G1/8 0168 13 10
 G3/8 G1/8 0168 17 10
 G3/8  G1/4 0168 17 13
 G1/2 G1/8 0168 21 10
 G1/2 G1/4 0168 21 13
 G1/2 G3/8 0168 21 17
 G3/4 G1/4 0168 27 13
 G3/4 G3/8 0168 27 17
 G3/4 G1/2 0168 27 21

C1 NPT   C2 NPT
1/8 1/4 U110 L BA
1/8 3/8 U110 L CA
1/4 3/8 U110 L CB
1/4 1/2 U110 L DB
3/8 1/2 U110 L DC
3/8 3/4 U110 L EC
1/2 3/4 U110 L ED

C1 C2 
G1/8 R1/8 0916 00 10
G1/4 R1/4 0916 00 13
G3/8 R3/8 0916 00 17
G1/2 R1/2 0916 00 21
G3/4 R3/4 0916 00 27

C  
R1/8 0205 10 00
R1/4 0205 13 00
R3/8 0205 17 00
R1/2 0205 21 00

NPT  
1/8 0205 11 00
1/4 0205 14 00
3/8 0205 18 00
1/2 0205 22 00

BSPP  
G1/8 0670 00 10
G1/4 0670 00 13
G3/8 0670 00 17
G1/2 0670 00 21
G3/4 0670 00 27
G1 0670 00 34

BSPP  
G1/8 0674 00 10
G1/4 0674 00 13
G3/8 0674 00 17
G1/2 0674 00 21

ØD  
  4 0671 04 00
  6 0671 06 00
  8 0671 08 00
 10 0671 10 00

NPT  
1/8 0683 00 11
1/4 0683 00 14
3/8 0683 00 18
1/2 0683 00 22

BSPP  
G1/8 0682 00 10
G1/4 0682 00 13
G3/8 0682 00 17
G1/2 0682 00 21

NPT/UNF  
 10-32 0673 00 20*  
  1/8  0610 00 11
  1/4  0610 00 14
  3/8  0610 00 18
  1/2  0610 00 22

  NPT  
  1/8  0611 00 11
  1/4  0611 00 14
  3/8  0611 00 18
  1/2  0611 00 22

C  
M5x0.8 0222 19 00
 G1/8 0222 10 00
 G1/4 0222 13 00
 G3/8 0222 17 00

ØD   C  
1/8 1/8 U115 L A
1/4 1/4 U115 L B
3/8 3/8 U115 L C
1/2 1/2 U115 L D

NPT 
1/8 U112 L A
1/4 U112 L B
3/8 U112 L C
1/2 U112 L D

 C1   C2
R1/4 G1/8 0904 10 13
R3/8 G1/4 0904 13 17
R1/2 G1/4 0904 13 21
R1/2 G3/8 0904 17 21
R3/4 G1/2 0904 21 27

 C1   C2
G1/8 M5x0.8 0905 19 10
G1/4  G1/8 0905 10 13
G3/8  G1/8 0905 10 17
G3/8  G1/4 0905 13 17
G1/2  G1/4 0905 13 21
G1/2  G3/8 0905 17 21
G3/4  G1/2 0905 21 27

 C1   C2
G1/8 G1/8 0902 00 10
G1/8 G1/4 0902 10 13
G1/4 G1/4 0902 00 13
G1/4 G3/8 0902 13 17
G3/8 G3/8 0902 00 17
G1/2 G1/2 0902 00 21

 C1   C2
M5x0.8 G1/8 0906 10 19
 G1/8 G1/8 0906 00 10
 G1/8 G1/4 0906 10 13
 G1/4 G1/4 0906 00 13
 G1/4 G3/8 0906 13 17
 G1/4 G1/2 0906 13 21
 G3/8 G1/2 0906 17 21

 C1   C2
 R1/8 R1/8 0900 00 10
 R1/8 R1/4 0900 10 13
 R1/4 R1/4 0900 00 13
 R1/4 R3/8 0900 13 17
 R1/4 R1/2 0900 13 21
 R3/8 R3/8 0900 00 17
 R3/8 R1/2 0900 17 21
 R1/2 R1/2 0900 00 21

ØD
 4 6316 04 00WP2
 6 6316 06 00WP2
 8 6316 08 00WP2
10 6316 10 00WP2
12 6316 12 00WP2

ØD1 ØD2
 4  4 6306 06 00WP2
 4 6 6306 04 06WP2
 4  8 6306 04 08WP2
 6  8 6306 06 08WP2
 6 10 6306 06 10WP2
 8 8 6306 08 00WP2
 8 10 6306 08 10WP2
 8 12 6306 08 12WP2
 10 10 6306 10 00WP2
 10 12 6306 10 12WP2
 12 12 6306 12 00WP2

ØD1 ØD2
4 4 6302 04 00WP2
6 6 6302 06 00WP2
8 8 6302 08 00WP2
10 10 6302 10 00WP2
12 12 6302 12 00WP2
4  6 6302 04 06WP2
6 8 6302 06 08WP2
8 10 6302 08 10WP2
10 12 6302 10 12WP2 ØD

4 6304 04 00WP2
6 6304 06 00WP2
8 6304 08 00WP2
10 6304 10 00WP2
12 6304 12 00WP2

ØD
4 6340 04 00WP2
6 6340 06 00WP2
8 6340 08 00WP2
10 6340 10 00WP2
12 6340 12 00WP2

NPT 
Body Size 1/4" I.D.
  1/4  9405U06 14
  3/8  9405U06 18
  1/2  9405U06 22

NPT 
Body Size 1/4" I.D.
  1/4  9415U06 14
  3/8  9415U06 18
  1/2  9415U06 22

NPT 
Body Size 1/4" I.D.
  1/4  9084 23 14
  3/8  9084 23 18

NPT 
Body Size 1/4" I.D.
  1/4  9083 23 14
  3/8  9083 23 18

  NPT   DN
  1/4  .137 0659 00 14

NPT 
Body Size 3/8" I.D.
  1/4  9405U08 14
  3/8  9405U08 18
  1/2  9405U08 22

NPT 
Body Size 3/8" I.D.
  1/4  9415U08 14
  3/8  9415U08 18
  1/2  9415U08 22

NPT 
Body Size 3/8" I.D.
  1/4  9084 30 14
  3/8  9084 30 18

NPT 
Body Size 3/8" I.D.
  1/4  9083 30 14
  3/8  9083 30 18

ØD BSPP
10 1/2  6353 10 21WP2
6  3/4 6353 06 27WP2
8 3/4 6353 08 27Wp2

Tube ØD Stem ØD
 4 4 6380 04 00WP2
 6 6 6380 06 00WP2
 8 8 6380 08 00WP2
10 10 6380 10 00WP2
12 12 6380 12 00WP2

ØD Thread
1/4  7/16-24UNS 6325 56 133WP2
3/8  7/16-24UNS 6325 60 133WP2

ØD1 ØD2
1/4  1/4 6306 56 00WP2
1/4  3/8 6306 56 60WP2
5/16 1/4 6306 08 56WP2
5/16 5/16 6306 08 00WP2
5/16 3/8 6306 08 60WP2
3/8  3/8 6306 60 00WP2
3/8 1/2 6306 60 62WP2
1/2  1/2 6306 62 00WP2

ØD1 ØD2
1/4  1/4 6302 56 00WP2
5/16 5/16 6302 08 00WP2
3/8  3/8 6302 60 00WP2
3/8 1/4 6302 56 60WP2
3/8 1/2 6302 60 62WP2
1/2  1/2 6302 62 00WP2

ØD1 ØD2
1/4  1/4 6304 56 00WP2
3/8  3/8 6304 60 00WP2
3/8  1/4 6304 60 56WP2
1/2  1/2 6304 62 00WP2
5/16 5/16 6304 08 00WP2

ØD
1/4  6340 56 00WP2
3/8  6340 60 00WP2
1/2  6340 62 00WP2
5/16 6340 08 00WP2

ØD
1/4 6316 56 00WP2
5/16 6316 08 00WP2
3/8 6316 60 00WP2
1/2 6316 62 00WP2 

Tube ØD Stem ØD
4 6       6366 04 06WP2
4 8       6366 04 08WP2
6 8       6366 06 08WP2
6 10       6366 06 10WP2
8 10       6366 08 10WP2
8 12       6366 08 12WP2
10 12       6366 10 12WP2
10 14       6366 10 14WP2
12 14       6366 12 14WP2

Tube ØD Stem ØD
4 4       6382 04 00WP2
4 6       6382 04 06WP2
6 4       6382 06 04WP2
6 6       6382 06 00WP2
6 8       6382 06 08WP2
8 8       6382 08 00WP2
8 10       6382 08 10WP2
10 10       6382 10 00WP2
10 12       6382 10 12WP2
12 12       6382 12 00WP2

Tube ØD Stem ØD
4 4       6388 04 00WP2
6 6       6388 06 00WP2
8 8       6388 08 00WP2
10 10       6388 10 00WP2

Tube ØD Stem ØD
4 4       6383 04 00WP2
6 6       6383 06 00WP2
8 8       6383 08 00WP2
10 10       6383 10 00WP2

ØD
4 6351 04 00WP2
6 6351 06 00WP2
8 6351 08 00WP2
10 6351 10 00WP2
12 6351 12 00WP2

ØD BSPT
6   1/8  6308 06 10WP2
6   1/4  6308 06 13WP2
6   3/8  6308 06 17WP2
8   1/8  6308 08 10WP2
8   1/4  6308 08 13WP2
8   3/8  6308 08 17WP2
10   1/4  6308 10 13WP2
10   3/8  6308 10 17WP2
10   1/2  6308 10 21WP2
12   3/8  6308 12 17WP2
12   1/2  6308 12 21WP2

ØD BSPT
4   1/8  6505 04 10WP2
4   1/4  6505 04 13WP2
6   1/8  6505 06 10WP2
6   1/4  6505 06 13WP2
8   1/8  6505 08 10WP2
8   1/4  6505 08 13WP2 
8   3/8  6505 08 17WP2
10   1/4  6505 10 13WP2
10   3/8  6505 10 17WP2
10   1/2  6505 10 21WP2
12   3/8  6505 12 17WP2
12   1/2  6505 12 21WP2

ØD BSPT
6   1/8  6579 06 10WP2
6   1/4  6579 06 13WP2
6   3/8  6579 06 17WP2

ØD BSPT
6   1/8  6315 06 10WP2
6   1/4  6315 06 13WP2
8   1/4  6315 08 13WP2
8   3/8  6315 08 17WP2

Stem ØD
4 6326 04 00WP2
6 6326 06 00WP2
8 6326 08 00WP2
10 6326 10 00WP2
12 6326 12 00WP2

Stem ØD BSPT
6   1/4  6321 06 13WP2
6   3/8  6321 06 17WP2
8   1/8  6321 08 10WP2
8   1/4  6321 08 13WP2
8   3/8  6321 08 17WP2
10   1/4  6321 10 13WP2
10   3/8  6321 10 17WP2
10   1/2  6321 10 21WP2
12   3/8  6321 12 17WP2
12   1/2  6321 12 21WP2

Stem ØD Hose Barb
6 4       6322 06 04WP2
8 6       6322 08 06WP2
10 7       6322 10 07WP2

  ØD NPTF
  1/4    1/8  6548 56 11WP2
  1/4    1/4  6548 56 14WP2
  1/4    3/8  6548 56 18WP2
  3/8    1/4  6548 60 14WP2
  3/8    3/8  6548 60 18WP2
  1/2    3/8  6548 62 18WP2
  1/2    1/2  6548 62 22WP2

ØD
 6 6307 06 00WP2 
 8 6307 08 00WP2

ØD BSPT
6   1/8  6509 06 10WP2
6   1/4  6509 06 13WP2
6   3/8  6509 06 17WP2
8   1/8  6509 08 10WP2
8   1/4  6509 08 13WP2
8   3/8  6509 08 17WP2
10   1/4  6509 10 13WP2
10   3/8  6509 10 17WP2
10   1/2  6509 10 21WP2
12   3/8  6509 12 17WP2
12   1/2  6509 12 21WP2

ØD BSPT
6   1/8  6503 06 10WP2
6   1/4  6503 06 13WP2
6   3/8  6503 06 17WP2
8   1/8  6503 08 10WP2
8   1/4  6503 08 13WP2
8   3/8  6503 08 17WP2
10   1/4  6503 10 13WP2
10   3/8  6503 10 17WP2
10   1/2  6503 10 21WP2
12   3/8  6503 12 17WP2
12   1/2  6503 12 21WP2

ØD   NPTF
  1/4    1/8  6509 56 11WP2
  1/4    1/4  6509 56 14WP2
  1/4    3/8  6509 56 18WP2
  3/8    1/4  6509 60 14WP2
  3/8    3/8  6509 60 18WP2
  1/2    3/8  6509 62 18WP2
  1/2    1/2  6509 62 22WP2

ØD   NPTF
  1/4    1/8  6503 56 11WP2
  1/4    1/4  6503 56 14WP2
  1/4    3/8  6503 56 18WP2
  3/8    1/4  6503 60 14WP2
  3/8    3/8  6503 60 18WP2
  1/2    3/8  6503 62 18WP2
  1/2    1/2  6503 62 22WP2

Stem ØD   NPTF
  1/8    1/4  6521 56 11WP2
  1/4    1/4  6521 56 14WP2
  3/8    1/4  6521 56 18WP2
  1/4    3/8  6521 60 14WP2
  3/8    3/8  6521 60 18WP2
  3/8    1/2  6521 62 18WP2
  1/2    1/2  6521 62 22WP2

Stem ØD  Hose Barb
  1/4    1/4  6322 56 56WP2
  3/8    1/4  6322 60 56WP2
  3/8    5/16 6322 60 08WP2
  3/8    3/8  6322 60 60WP2
  1/2    3/8  6322 62 60WP2

Stem ØD
  1/4  6326 56 00WP2
  5/16 6326 08 00WP2
  3/8  6326 60 00WP2
  1/2  6326 62 00WP2

ØD NPTF
  1/4    1/8  6508 56 11WP2
  1/4    1/4  6508 56 14WP2
  1/4    3/8  6508 56 18WP2
  3/8    1/4  6508 60 14WP2
  3/8    3/8  6508 60 18WP2
  1/2    3/8  6508 62 18WP2
  1/2    1/2  6508 62 22WP2

  ØD NPTF
  1/4    1/8  6505 56 11WP2
  1/4    1/4  6505 56 14WP2
  3/8    1/4  6505 60 14WP2
  3/8    3/8  6505 60 18WP2
  1/2    3/8  6505 62 18WP2
  1/2    1/2  6505 62 22WP2

  ØD NPTF
  1/4    1/8  6579 56 11WP2
  1/4    1/4  6579 56 14WP2
  1/4    3/8  6579 56 18WP2
  3/8    1/4  6579 60 14WP2
  3/8    3/8  6579 60 18WP2

ØD NPTF
  1/4    1/4  6315 56 14WP2
  3/8    3/8  6315 60 18WP2

ØD
1/4  6351 56 00WP2
5/16 6351 08 00WP2
3/8  6351 60 00WP2

Tube ØD Stem ØD
1/4 5/16 6366 56 08WP2
1/4  3/8 6366 56 60WP2
3/8 1/2 6366 60 62WP2

Tube ØD Stem ØD
  1/4    1/4  6382 56 00WP2
  1/4    3/8  6382 56 60WP2
  5/16   5/16 6382 08 00WP2
  3/8    3/8  6382 60 00WP2
  1/2    1/2  6382 62 00WP2

Tube ØD Stem ØD
  1/4    1/4  6388 56 00WP2
  5/16   5/16 6388 08 00WP2
  3/8    3/8  6388 60 00WP2
  1/2    1/2  6388 62 00WP2

Tube ØD Stem ØD
  1/4    1/4  6383 56 00WP2
  5/16   5/16 6383 08 00WP2
  3/8    3/8  6383 60 00WP2
  1/2    1/2  6383 62 00WP2

 NPT
 1/8  U103 L A
 1/4  U103 L B
 3/8  U103 L C 
 1/2 U103 L D

 ØD BSPP Meter Out Meter In
 4 M5x0.8 7660 04 19 7669 04 19
 4 G1/8 7660 04 10 7669 04 10 
 6 M5x0.8 7660 06 19 7669 06 19
 6 G1/8 7660 06 10 7669 06 10
 6 G1/4 7660 06 13 7669 06 13
 8 G1/8 7660 08 10 7669 08 10
 8 G1/4 7660 08 13 7669 08 13
 8 G3/8 7660 08 17 7669 08 17

 ØD BSPP Meter Out Meter In
  4 M5x0.8 7010 04 19 7011 04 19
  4 G1/8 7010 04 10 7011 04 10
  6 M5x0.8 7010 06 19 7011 06 19
  6 G1/8 7010 06 10 7011 06 10
  6 G1/4 7010 06 13 7011 06 13
  8 G1/8 7010 08 10 7011 08 10
  8 G1/4 7010 08 13 7011 08 13
  8 G3/8 7010 08 17 7011 08 17
 10 G1/4 7010 10 13 7011 10 13
 10  G3/8 7010 10 17 7011 10 17

  One way 
 ØD adjustment
  4 7770 04 00
  6 7770 06 00
  8 7770 08 00
 10 7770 10 00
 12 7770 12 00

 ØD BSPP/Metric Meter Out
 4 M5x0.8 7640 04 19
 4  G1/8 7640 04 10
 6 M5x0.8 7640 06 19
 6  G1/8 7640 06 10

 ØD BSPP Meter Out
 4 G1/8 7100 04 10
 6 G1/8 7100 06 10
 6 G1/4 7100 06 13
 8 G1/8 7100 08 10
 8 G1/4 7100 08 13
 8 G3/8 7100 08 17
10 G1/4 7100 10 13
10 G3/8 7100 10 17
12 G3/8 7100 12 17
12 G1/2 7100 12 21

ØD BSPP 
 6 G1/8 7300 06 10
 6 G1/4 7300 06 13
 8 G1/8 7300 08 10
 8 G1/4 7300 08 13

 ØD BSPP 
  6 G1/8 7880 06 10
  6 G1/4 7880 06 13
  8 G1/4 7880 08 13
  8  G3/8 7880 08 17
 10 G3/8 7880 10 17
 12 G1/2 7880 12 21

 ØD 
 6                        7910 06 00
 8                        7910 08 00

 ØD 
 6                        7913 06 00
 8                        7913 08 00

 ØD 
  5/32 7913 04 00
  1/4  7913 56 00
  5/16 7913 08 00
  3/8  7913 60 00

 ØD 
  4                      7996 04 00
  6                      7996 06 00
  8                      7996 08 00
 10                      7996 10 00
 12                      7996 12 00

  NPT 
 1/8 7982 11 11

 1/4 7982 14 14

 3/8 7982 18 18

 1/2 7982 22 22

 ØD BSPP 
 4 M5x0.8 7818 04 19*
 4 G1/8 7818 04 10
 4 G1/4 7818 04 13
 4 G3/8 7818 04 17
 4 G1/2 7818 04 21

 ØD NPT 
 5/32 1/8  7305 04 11
 1/4  1/8  7305 56 11
 1/4  1/4  7305 56 14
 3/8  1/4  7305 60 14

 ØD NPT 
  1/4  1/8  7885 56 11
  1/4  1/4  7885 56 14
  3/8  3/8  7885 60 18
  1/2  1/2  7885 62 22

 ØD 
  5/32 7910 04 00
  1/4  7910 56 00
  5/16 7910 08 00
  3/8  7910 60 00

 ØD 
  5/32 7996 04 00
  1/4  7996 56 00
  5/16 7996 08 00
  3/8  7996 60 00

 ØD NPT/UNF
5/32 10-32 7818 04 20**
5/32 1/8  7808 04 11
5/32 1/4  7808 04 14
5/32 3/8  7808 04 18
5/32 1/2  7808 04 22

 NPT
  1/8  0660 04 11
  1/4  0660 07 14
  3/8  0660 10 18
  1/2  0660 14 22

 BSPP Meter Out
G1/8 7110 10 10
G1/4 7110 13 13
G3/8 7110 17 17
G1/2 7110 21 21

 NPT Meter Out
1/8 4895 11 11 
1/4 4895 14 14  
3/8 4895 18 18  
1/2  4895 22 22

 ØD NPT 
1/4 1/8 7045 56 11
1/4 1/4 7045 56 14
3/8 1/4 7045 60 14
3/8 3/8 7045 60 18

  One way 
ØD adjustment
 4 7776 04 00*
 6 7776 06 00*
 8 7776 08 00

 ØD
  5/32 7770 04 00
  1/4  7770 56 00
  5/16 7770 08 00
  3/8  7770 60 00
  1/2  7770 62 00

 ØD      NPT Meter Out Meter In
  5/32   1/8  7065 04 11 7066 04 11
  5/32   1/4  7065 04 14 7066 04 14
  1/4    1/8  7065 56 11 7066 56 11
  1/4    1/4  7065 56 14 7066 56 14
  3/8    1/4  7065 60 14        -          
  3/8    3/8  7065 60 18            -         

 ØD     NPT Meter Out Meter In
  1/8  10-32 7660 53 20 7669 53 20
  1/8    1/8  7665 53 11        -        
  5/32 10-32 7660 04 20 7669 04 20
  5/32   1/8  7665 04 11 7668 04 11
  1/4  10-32 7660 56 20 7669 56 20
  1/4    1/8  7665 56 11 7668 56 11
  1/4    1/4  7665 56 14 7668 56 14

 ØD NPT/UNF Meter Out Meter In
  1/8  10-32 7010 53 20  - 
  1/8    1/8  7015 53 11  - 
  5/32 10-32 7010 04 20 7011 04 20
  5/32   1/8  7015 04 11 7016 04 11
  1/4  10-32 7010 56 20 7011 56 20
  1/4    1/8  7015 56 11 7016 56 11
  1/4    1/4  7015 56 14 7016 56 14
  5/16   1/8  7015 08 11  - 
  5/16   1/4  7015 08 14  - 
  3/8    1/4  7015 60 14  - 
  3/8    3/8  7015 60 18  - 

 ØD   NPT Meter Out
  5/32   1/8  7105 04 11
  1/4    1/8  7105 56 11
  1/4    1/4  7105 56 14
  3/8    1/4  7105 60 14
  3/8    3/8  7105 60 18

 ØD 
  6 3806 06 00
  8 3806 08 00
 10 3806 10 00

 ØD 
  6 3804 06 00
  8 3804 08 00
 10 3804 10 00

 ØD 
 5/32 3816 04 00
 3/16 3816 55 00
 1/4  3816 56 00
 5/16 3816 08 00
 3/8  3816 60 00
 1/2  3816 62 00

 ØD 
  5/32 3802 04 00
  3/16 3802 55 00
  1/4  3802 56 00
  5/16 3802 08 00
  3/8  3802 60 00
  1/2  3802 62 00

 ØD
  5/32 3806 04 00
  3/16 3806 55 00
  1/4  3806 56 00
  5/16 3806 08 00
  3/8  3806 60 00
  1/2  3806 62 00

 ØD 
  5/32 3804 04 00
  3/16 3804 55 00
  1/4  3804 56 00
  5/16 3804 08 00
  3/8  3804 60 00
  1/2  3804 62 00

 ØD
 5/32 3606 04 00
 1/4  3606 56 00
 5/16 3606 08 00
 3/8  3606 60 00
 1/2  3606 62 00

 ØD
  5/32 3604 04 00
  1/4  3604 56 00
  5/16 3604 08 00
  3/8  3604 60 00
  1/2  3604 62 00

 ØD
 5/32 3602 04 00
 1/4  3602 56 00
 5/16 3602 08 00
 3/8  3602 60 00
 1/2  3602 62 00

 ØD BSPT/Metric
  4 M5x0.8 3699 04 19
  4  G1/8 3699 04 10 
  4   M6x1 3699 04 52 
  6   G1/8 3699 06 10 
  6  G1/4 3699 06 13 
  8  G1/8 3699 08 10 
  8  G1/4 3699 08 13 
  8  G3/8 3699 08 17
 10  G1/4 3699 10 13 
 10   G3/8 3699 10 17 
 12   G1/4 3699 12 13 
 12   G3/8 3699 12 17 
 14  G1/2 3699 14 21

 ØD   NPT
  5/32   1/8  3609 04 11
  5/32   1/4  3609 04 14
  1/4    1/8  3609 56 11
  1/4    1/4  3609 56 14
  1/4    3/8  3609 56 18
  3/8    1/4  3609 60 14
  3/8    3/8  3609 60 18
  3/8    1/2  3609 60 22
  1/2    3/8  3609 62 18
  1/2    1/2  3609 62 22

 ØD BSPP/Metric
  4 M5x0.8 3601 04 19
  4  G1/8 3601 04 10 
  4   M6x1 3601 04 52 
  4  M8x1 3601 04 56
  6 M5x0.8 3601 06 19 
  6  G1/8 3601 06 10 
  6 M10x1 3601 06 60 
  6  G1/4 3601 06 13 
  8  G1/8 3601 08 10 
  8  G1/4 3601 08 13
  8  G3/8 3601 08 17 
 10  G1/4 3601 10 13 
 10  G3/8 3601 10 17 
 12  G1/4 3601 12 13 
 12  G3/8 3601 12 17 
 12  G1/2 3601 12 21 
 14  G1/2 3601 14 21

 ØD NPT
 5/32 1/8  3675 04 11
 5/32 1/4  3675 04 14
 1/4  1/8  3675 56 11
 1/4  1/4  3675 56 14
 1/4  3/8  3675 56 18
 3/8  1/8  3675 60 11
 3/8  1/4  3675 60 14 
 3/8  3/8  3675 60 18
 3/8  1/2  3675 60 22
 1/2  3/8  3675 62 18
 1/2  1/2  3675 62 22

 ØD NPT
5/32 10-32 3601 04 20
 1/4  10-32 3601 56 20

 ØD UNF
 5/32 10-32 3699 04 20

ØD
4  3616 04 00
6  3616 06 00
8  3616 08 00
10   3616 10 00
12  3616 12 00

ØD1 ØD1
 6 8 3666 06 08
 8 10 3666 08 10

ØD1 ØD2
 6 4 3668 06 04

ØD
5/32 3616 04 00
1/4  3616 56 00
5/16 3616 08 00
3/8  3616 60 00
1/2  3616 62 00

ØD
 6 3639 06 00
 8 3639 08 00

 ØD1 ØD2
  6 4 3304 06 04 
  8 4 3304 08 04 
  8 6 3304 08 06 
 10 6 3304 10 06 
 10 8 3304 10 08

 ØD1 ØD2
   6 4 3168 06 04
   8 6 3168 08 06
 10 8 3168 10 08

 ØD1 ØD2
 4 4 3182 04 00
 6 6 3182 06 00
 6  4 3182 06 04
 8 8 3182 08 00
10        10 3182 10 00

 ØD1 ØD2
 1/8  1/8  3182 53 00
 5/32 5/32 3182 04 00
 5/32 1/4  3182 04 56
 1/4  1/4  3182 56 00
 1/4  3/8  3182 56 60
 5/16 5/16 3182 08 00
 3/8  3/8  3182 60 00
 1/2  1/2  3182 62 00

 ØD1 ØD2
   4   6 3166 04 06 
   4   8 3166 04 08 
   4  10 3166 04 10 
   6   8 3166 06 08 
   6  10 3166 06 10 
   6  12 3166 06 12 
   8  10 3166 08 10 
   8  12 3166 08 12 
   8  14 3166 08 14 
  10  12 3166 10 12 
  10  14 3166 10 14 
  12  14 3166 12 14

ØD1 ØD2
1/4  5/32 3304 56 04
1/4  1/4  3304 56 56
5/16 5/32 3304 08 04
3/8  1/4  3304 60 56

ØD1 ØD2
1/4  1/8  3168 56 53
1/4   6mm  3168 56 06
1/4  5/32 3168 56 04
1/4  3/16  3168 56 55
3/8  1/4 3168 60 56

 ØD1 ØD2
  1/8  5/32 3166 53 04
  1/8  3/16 3166 53 55
  1/8  1/4  3166 53 56
  5/32 3/16 3166 04 55
  5/32 1/4  3166 04 56
  5/32 5/16 3166 04 08
  5/32 3/8  3166 04 60
  3/16 5/16 3166 55 08
  3/16 1/4  3166 55 56
  1/4  5/16 3166 56 08
  1/4  3/8  3166 56 60
  1/4  1/2  3166 56 62
  5/16 3/8  3166 08 60
  5/16 1/2  3166 08 62
  3/8  1/2  3166 60 62

  ØD1 ØD2
  4  4 3140 04 00 
  6  6 3140 06 00
  8  8 3140 08 00
 10 10 3140 10 00
 12 12 3140 12 00
  4  6 3140 04 06
  6  8 3140 06 08
  8 10 3140 08 10

 ØD  
 4 3116 04 00
 6 3116 06 00
 8 3116 08 00 
10 3116 10 00
12 3116 12 00

 ØD 
 4 3139 04 00
 6 3139 06 00
 8 3139 08 00
10 3139 10 00

 ØD 
  1/8 3139 53 00
  5/32 3139 04 00
  1/4  3139 56 00
  5/16 3139 08 00
  3/8  3139 60 00
  1/2  3139 62 00

ØD BSPP
 6 G1/4 3136 06 13
 8 G1/4 3136 08 13
10 G3/8 3136 10 17

ØD NPT 
  1/8  1/8  3036 53 11
  5/32 1/8  3036 04 11
  5/32 1/4  3036 04 14
  1/4  1/8  3036 56 11
  1/4  1/4  3036 56 14
  3/8  1/4  3036 60 14
  3/8  3/8  3036 60 18

 ØD1 ØD2
1/8 1/8 3140 53 00
1/8 1/4 3140 53 56
5/32 5/32 3140 04 00
5/32 1/4 3140 04 56
1/4 1/4 3140 56 00
1/4 3/8 3140 56 60
5/16 5/16 3140 08 00
3/8 3/8 3140 60 00

 ØD   

  1/8  3116 53 00
  5/32 3116 04 00
  1/4  3116 56 00
  5/16 3116 08 00
  3/8  3116 60 00
  1/2  3116 62 00

 ØD1 ØD2
   4 6 3102 04 06
   6 8 3102 06 08
   8 10 3102 08 10
 10 12 3102 10 12

 ØD1 ØD2
   4 6 3104 04 06
   6 4 3104 06 04
   6 8 3104 06 08
   8 6 3104 08 06
 10 8 3104 10 08
 12 10 3104 12 10

 ØD1  ØD2
  1/8    5/32 3106 53 04
  1/8    1/4  3106 53 56
  5/32   1/4  3106 04 56
  1/4    5/16 3106 56 08
  3/8    1/4  3106 60 56
  3/8    1/2  3106 60 62

 ØD1  ØD2
  1/8    1/4  3102 53 56
  5/32   1/4  3102 04 56
  3/8    1/4  3102 60 56
  3/8    1/2  3102 60 62

 ØD1    ØD2
  1/8    1/4  3104 53 56
  5/32   1/4  3104 04 56
  1/4    1/8  3104 56 53
  1/4    5/32 3104 56 04
  1/4    3/8  3104 56 60
  3/8    1/4  3104 60 56
  3/8    1/2  3104 60 62
  1/2    1/4  3104 62 56
  1/2    3/8  3104 62 60

 ØD
  1/8  3106 53 00
  5/32 3106 04 00
  3/16 3106 55 00
  1/4  3106 56 00
  5/16 3106 08 00
  3/8  3106 60 00
  1/2  3106 62 00

 ØD
 1/8  3102 53 00
 5/32 3102 04 00
 3/16 3102 55 00
 1/4  3102 56 00
 5/16 3102 08 00
 3/8  3102 60 00
 1/2  3102 62 00

 ØD
  1/8  3104 53 00
  5/32 3104 04 00
  3/16 3104 55 00
  1/4  3104 56 00
  5/16 3104 08 00
  3/8  3104 60 00
  1/2  3104 62 00

 ØD BSPT
  4 R1/8 3108 04 10
  4  R1/4 3108 04 13
  6 R1/8 3108 06 10
  6 R1/4 3108 06 13
  8 R1/8 3108 08 10
  8 R1/4 3108 08 13
  8 R3/8 3108 08 17
 10 R1/4 3108 10 13
 10 R3/8 3108 10 17
 10 R1/2 3108 10 21
 12 R1/4 3108 12 13
 12 R3/8 3108 12 17
 12 R1/2  3108 12 21

  ØD     BSPT
  1/8    1/8  3108 53 10
  5/32   1/8  3108 04 10
  5/32   1/4  3108 04 13
  3/16   1/8  3108 55 10
  3/16   1/4  3108 55 13
  1/4    1/8  3108 56 10
  1/4    1/4  3108 56 13 
  5/16   1/8  3108 08 10
  5/16   1/4  3108 08 13
  5/16   3/8  3108 08 17
  3/8    1/4  3108 60 13
  3/8    3/8  3108 60 17
  1/2    1/4  3108 62 13
  1/2    3/8  3108 62 17

 ØD BSPP
 4 G1/4 3192 04 13
 6 G1/8 3192 06 10
 6 G1/4 3192 06 13
 8 G1/4 3192 08 13

 ØD 
 4  3126 04 00
 6  3126 06 00
 8  3126 08 00
10  3126 10 00
12  3126 12 00
14  3126 14 00

 ØD 
 1/8 3126 53 00
 5/32 3126 04 00
 1/4 3126 56 00
 5/16 3126 08 00
 3/8 3126 60 00
 1/2 3126 62 00

 ØD 
  4 3151 04 00
  6 3151 06 00
  8 3151 08 00
 10 3151 10 00
 12 3151 12 00

 ØD 
 5/32 3151 04 00
 5/16 3151 08 00
 1/8 3151 53 00
 1/4 3151 56 00
 3/8 3151 60 00

6 3130 06 01 3130 06 02 3130 06 03 3130 06 04 3130 06 05 3130 06 10
8 3130 08 01 3130 08 02 3130 08 03 3130 08 04 3130 08 05 3130 08 10
10 3130 10 01 3130 10 02 3130 10 03 3130 10 04 3130 10 05 3130 10 10 
12 3130 12 01 3130 12 02 3130 12 03 3130 12 04 3130 12 05 3130 12 10
1/4 3130 56 01 3130 56 02 3130 56 03 3130 56 04 3130 56 05 3130 56 10
5/16 3130 08 01 3130 08 02 3130 08 03 3130 08 04 3130 08 05 3130 08 10
3/8 3130 60 01 3130 60 02 3130 60 03 3130 60 04 3130 60 05 3130 60 10
1/2 3130 62 01 3130 62 02 3130 62 03 3130 62 04 3130 62 05 3130 62 10

 ØD BSPP
  4       M5x0.8    3118 04 19* 
  4 G1/8    3118 04 10 
  6       M5x0.8    3118 06 19* 
  6 G1/8    3118 06 10 
  6 G1/4    3118 06 13 
  8 G1/8    3118 08 10 
  8 G1/4    3118 08 13 
  8 G3/8    3118 08 17 
 10 G1/4    3118 10 13 
 10 G3/8    3118 10 17

 ØD NPT/UNF
  1/8  10-32 3118 53 20
  5/32 10-32 3118 04 20
  5/32   1/8  3018 04 11
  5/32   1/8 3108 04 11
  3/16   1/8 3018 55 11
  1/4  10-32 3118 56 20
  1/4    1/8  3018 56 11
  1/4    1/4  3018 56 14
  1/4    3/8  3018 56 18
  5/16   1/8 3018 08 11
  5/16   1/4 3018 08 14
  3/8    1/4  3018 60 14
  3/8    3/8  3018 60 18

 ØD   NPT
  1/8    1/8  3009 53 11
  5/32   1/8  3009 04 11
  5/32   1/4  3009 04 14
  1/4    1/8  3009 56 11
  1/4    1/4  3009 56 14
  5/16   1/8  3009 08 11
  5/16   1/4  3009 08 14
  3/8    1/4  3009 60 14
  1/2    3/8  3009 62 18

 ØD BSPT
  4 R1/8 3109 04 10 
  4 R1/4 3109 04 13 
  4 R3/8   3109 04 17 
  6 R1/8 3109 06 10 
  6 R1/4 3109 06 13 
  6 R3/8 3109 06 17 
  6 R1/2   3109 06 21 
  8 R1/8 3109 08 10 
  8 R1/4 3109 08 13 
  8 R3/8 3109 08 17 
  8 R1/2 3109 08 21 
 10 R1/8 3109 10 10 
 10 R1/4 3109 10 13 
 10 R3/8 3109 10 17 
 10 R1/2 3109 10 21 
 12 R1/4 3109 12 13 
 12 R3/8 3109 12 17 
 12 R1/2 3109 12 21 
 14 R3/8 3109 14 17 
 14 R1/2 3109 14 21

ØD   BSPP
 4 M3x0.5 3199 04 09 
 4 M5x0.8 3199 04 19 
 4 G1/8 3199 04 10 
 4 G1/4 3199 04 13 
 6 M5x0.8 3199 06 19
 6 G1/8 3199 06 10 
 6 G1/4 3199 06 13 
 6 G3/8 3199 06 17 
 8 G1/8 3199 08 10 
 8 G1/4 3199 08 13 
 8 G3/8 3199 08 17
 8 G1/2 3199 08 21 
10 G1/4 3199 10 13 
10 G3/8 3199 10 17 
10 G1/2 3199 10 21 
12 G1/4 3199 12 13 
12 G3/8 3199 12 17 
12 G1/2 3199 12 21 
14 G3/8 3199 14 17 
14 G1/2 3199 14 21 

 ØD BSPP
  4        M5x0.8     3169 04 19 
  4 G1/8     3169 04 10 
  6        M5x0.8     3169 06 19 
  6 G1/8     3169 06 10 
  6 G1/4     3169 06 13 
  8 G1/8     3169 08 10 
  8 G1/4     3169 08 13 
 10 G1/4     3169 10 13

 ØD   NPT
  1/8    1/8  3129 53 11
  1/8    1/4  3129 53 14
  5/32   1/8  3129 04 11
  5/32   1/4  3129 04 14
  1/4    1/8  3129 56 11
  1/4    1/4  3129 56 14
  1/4    3/8  3129 56 18
  5/16   1/8  3129 08 11
  5/16   1/4  3129 08 14
  3/8    1/8  3129 60 11
  3/8    1/4  3129 60 14
  3/8    3/8  3129 60 18

 ØD NPT/UNF
  1/8  10-32 3109 53 20
  1/8    1/16 3109 53 08
  1/8    1/8  3109 53 11
  1/8    1/4  3109 53 14
  5/32 10-32 3109 04 20
  5/32   1/8  3109 04 11
  5/32   1/4  3109 04 14
  3/16   1/8  3109 55 11
  1/4  10-32 3109 56 20
  1/4    1/8  3109 56 11
  1/4    1/4  3109 56 14
  1/4    3/8  3109 56 18
  5/16   1/8  3109 08 11
  5/16   1/4  3109 08 14
  5/16   3/8  3109 08 18
  3/8    1/8  3109 60 11
  3/8    1/4  3109 60 14
  3/8    3/8  3109 60 18
  3/8    1/2  3109 60 22
  1/2    1/4  3109 62 14
  1/2    3/8  3109 62 18
  1/2    1/2  3109 62 22

  ØD BSPT
  1/8    1/8  3109 53 10
  5/32   1/8  3109 04 10
  5/32   1/4  3109 04 13
  3/16   1/8  3109 55 10
  3/16   1/4  3109 55 13
  1/4    1/8  3109 56 10
  1/4    1/4  3109 56 13
  5/16   1/8  3109 08 10
  5/16   1/4  3109 08 13
  5/16   3/8  3109 08 17
  5/16   1/2  3109 08 21
  3/8    1/4  3109 60 13
  3/8    3/8  3109 60 17
  1/2    1/4  3109 62 13
  1/2    3/8  3109 62 17
  1/2    1/2  3109 62 21

 ØD    NPT
 4   1/8  3109 04 11
 4   1/4  3109 04 14
 6   1/8  3109 06 11
 6   1/4  3109 06 14
 8   1/8  3109 08 11
 8   1/4  3109 08 14
 8   3/8  3109 08 18
10   1/4  3109 10 14
10   3/8  3109 10 18
10   1/2  3109 10 22
12   3/8  3109 12 18
12   1/2  3109 12 22

 ØD BSPP
 4 M3x0,5   3101 04 09
 4 M5x0.8   3101 04 19 
 4 G1/8   3101 04 10 
 4 G1/4   3101 04 13 
 6 M5x0.8   3101 06 19 
 6      G1/8   3101 06 10 
 6      G1/4   3101 06 13 
 6      G3/8      3101 06 17 
 8      G1/8   3101 08 10 
 8      G1/4   3101 08 13 
 8 G3/8   3101 08 17 
 8  G1/2   3101 08 21 
10 G1/4   3101 10 13 
10 G3/8   3101 10 17 
10 G1/2   3101 10 21 
12 G1/4   3101 12 13 
12 G3/8   3101 12 17 
12 G1/2   3101 12 21 
14 G3/8   3101 14 17 
14 G1/2   3101 14 21

 ØD  Metric
 4       M7x1        3181 04 55
 6        M7x1        3181 06 55

 ØD UNF  

 1/8  10-32 3171 53 20
 5/32 10-32 3171 04 20
 1/4  10-32 3171 56 20
 1/4  M5 3181 56 19
 1/4  M7 3181 56 55

 ØD BSPP  

 4      M5x0.8 3114 04 19 
 4 G1/8 3114 04 10 
 4 G1/4 3114 04 13 
 6 G1/8 3114 06 10 
 6 G1/4 3114 06 13 
 8 G1/8 3114 08 10 
 8 G1/4 3114 08 13 
 10 G1/4 3114 10 13 
 10 G3/8 3114 10 17 
 10 G1/2 3114 10 21 
 12 G1/2 3114 12 21

  ØD   NPT  

  1/8    1/8  3014 53 11
  1/8    1/4  3014 53 14
  5/32   1/8  3014 04 11
  5/32   1/4  3014 04 14
  3/16   1/8  3014 55 11
  3/16   1/4  3014 55 14
  1/4    1/8  3014 56 11
  1/4    1/4  3014 56 14
  5/16   1/8  3014 08 11
  5/16   1/4  3014 08 14
  3/8    1/8  3014 60 11
  3/8    1/4  3014 60 14
  3/8    3/8  3014 60 18
  1/2    3/8  3014 62 18
  1/2    1/2  3014 62 22

 ØD   NPT

 1/8    1/16 3175 53 08
  1/8    1/8  3175 53 11
  1/8    1/4  3175 53 14
  5/32   1/8  3175 04 11
  5/32   1/4  3175 04 14
  3/16   1/8  3175 55 11
  3/16   1/4  3175 55 14
  1/4    1/8  3175 56 11
  1/4    1/4  3175 56 14
  1/4    3/8  3175 56 18
  5/16   1/8  3175 08 11
  5/16   1/4  3175 08 14
  5/16   3/8  3175 08 18
  3/8    1/8  3175 60 11
  3/8    1/4  3175 60 14
  3/8    3/8  3175 60 18
  3/8    1/2  3175 60 22
  1/2    1/4  3175 62 14
  1/2    3/8  3175 62 18
  1/2    1/2  3175 62 22

  ØD BSPT
  1/8  R1/8 3175 53 10
  5/32 R1/8 3175 04 10
  5/32 R1/4 3175 04 13
  3/16 R1/8 3175 55 10
  3/16 R1/4 3175 55 13
  1/4  R1/8 3175 56 10
  1/4  R1/4 3175 56 13
  5/16 R1/8 3175 08 10
  5/16 R1/4 3175 08 13
  5/16 R3/8 3175 08 17
  5/16 R1/2 3175 08 21
  3/8  R1/4 3175 60 13
  3/8  R3/8 3175 60 17
  3/8  R1/2 3175 60 21
  1/2  R1/4 3175 62 13
  1/2  R3/8 3175 62 17
  1/2  R1/2 3175 62 21

ØD     NPT
 4   1/8  3175 04 11
 4   1/4  3175 04 14
 6   1/8  3175 06 11
 6   1/4  3175 06 14
 8   1/8  3175 08 11
 8   1/4  3175 08 14
 8   3/8  3175 08 18
 10   1/4  3175 10 14
 10   3/8  3175 10 18
 10   1/2  3175 10 22
 12   3/8  3175 12 18
 12   1/2  3175 12 22

LF3000 Instant Fittings    For Pneumatic and Vacuum Applications LF3600 Instant Fittings 
  For Industrial or Food Process Applications

Tube-to-Tube and Plug-in Fittings

LEGRIS SOLUTIONS AT A GLANCE

 ØD  NPT/UNF
  1/8  10-32 3108 53 20
  1/8    1/16 3108 53 08
  1/8    1/8  3108 53 11
  1/8    1/4  3108 53 14
  5/32 10-32 3108 04 20
  5/32   1/8  3108 04 11
  5/32   1/4  3108 04 14
  3/16   1/8  3108 55 11
  1/4    1/8  3108 56 11
  1/4    1/4  3108 56 14
  1/4    3/8  3108 56 18
  5/16   1/8  3108 08 11
  5/16   1/4  3108 08 14
  5/16   3/8  3108 08 18
  3/8    1/8  3108 60 11
  3/8    1/4  3108 60 14
  3/8    3/8  3108 60 18
  3/8    1/2  3108 60 22
  1/2    1/4  3108 62 14
  1/2    3/8  3108 62 18
  1/2    1/2  3108 62 22

Male Connector Union

Union

Union

Unequal Union

Male Connector Male Elbow Union Elbow

Bulkhead Connector

Reducer

Bulkhead Elbow

Expander

Union Tee

Union

Male Connector

Male Elbow Bulkhead Connector

Union Elbow

Miniature Flow Control

Compact Flow Control

Compact Flow Control

Miniature Flow Control

Knobless Flow Control

Knobless Flow Control

Inline Miniature Swivel Outlet  
Flow Control

Push-to-Connect Metal

Push-to-Connect Metal

Threaded with  
Push-to-Connect

Push-to-Connect Ports Push-to-Connect Ports

2/2, with  
Push-to-Connect Ports

3/2, with Vent,  
with Push-to-Connect Ports

In-Line Check Valve

Elbow Quick Exhaust Valve

Push-to-Connect Double Female
Slide Valve

Threaded Port 
Metal

Unidirectional, 
Double-Female

Inline Panel  
Mountable

Union

Union Elbow

Double Female

Street Elbow - Female BSPP to 
Male BSPT and M5

Male Straight Adapter - BSPP Adapter Reducer -  
Female BSPP to Male BSPP

Adaptor Reducer - NPT Branch Tee -  
Female BSPP to Male BSPT

Internal Hex Head Plug - 
BSPT and NPT

Threaded Silencer Threaded Silencer

Plug-in Silencer

Stainless Steel Silencer - Male NPT

Stainless Steel Silencer - Male BSPP

Threaded Plug - BSPP or M5

Street Elbow - NPT

Close Nipple - NPT

Adapter Reducer -  
Female BSPP to Male BSPT

Adapter Reducer - Male BSPP to 
Female BSPP or M5

Female Sleeve - BSPP

Expander -  
Female BSPP to Male BSPP

Male Straight Adapter - BSPT

Bulkhead Union

Union

Union Elbow

Union Tee

Union Y

Male NPT Straight Body Female NPT Straight body

Male NPT Straight Female NPT Straight

 Fixed Angled Nozzle

Faucet Connector

Plug-in 45° Elbow

Reducer Plug-in Elbow Plug-in Branch Tee Plug-in Run Tee End Cap Swivel Branch Tee

Male Connector

Fixed Elbow

Female Connector

Plug Stem Adapter Stem to Hose Barb

Swivel Male Y Connector

Cross

Swivel Elbow - BSPT Thread

Swivel Run Tee BSPT Thread

Female Sleeve - NPT

Male ElbowMale Connector

Multiple Tee

Expander

Plug-in Elbow

ReducerUnion Y

Bulkhead Connector

Bulkhead Elbow

Female Bulkhead 
Connector

Unequal Union

Unequal Union

Male Elbow Male Branch Tee

Female Elbow

Plug

End Caps
Single Banjo

Male Elbow

Extended Male ElbowMale Connector Male Connector Female Connector

3
1

0
1

3
1

8
1

/3
1

7
1

3
1

1
4

/3
0

1
4Suitable fluids: compressed air

Body: glass reinforced nylon
Working temperature: from -4° to +175° F
Working pressure: 290 psi maximum, vacuum of 28" Hg 

Suitable fluids:  All liquids and gasses 
compatible with the materials of the fitting.
Working temp: -4° to 250° F 
(dependent of type of tube used)

Working pressure: 
7 to 290 psi (dependent of type of tube used)

Suitable fluids: all fluids compatible with the materials. 
LF3800: stainless steel 316L (body and backup washer), 
stainless steel 303L (collet) and FKM ("O" ring) 
Working temperature: from -4° to +245° F 
Working pressure: 290 psi (dependent on type of tube used)

Polyurethane: high flexibility, good chemical resistance
Nylon: large range of working temperatures and pressures
Polyethylene: good resistance to aggressive and corrosive 
environments, economical solution, FDA approved 

Suitable fluids: compressed air (contact us for other fluid applications)
Working temperature (Dry Air): from -5° to +175° F
Working temperature (Ambient): from 5° to +120° F
Working pressure: 145 psi

Compatible fluids: compressed air
Working pressure: 230 psi (maximum)
Working temp: -4° to 140° F

Suitable fluids: compressed air, gas, water, waters team, 
oil and all fluids suitable with constituent materials
Constituent materials: sand blasted 
nickel-plated brass body – PTFE seals
Working temperature: -4° to + 300° F
Working pressure: 360 to 435 psi

Suitable fluids: 
water and beverages

Working temperature/pressure: 
1/4”: 230 psi from 35° F to 100° F
 150 psi at 150° F
 60 psi at 200° F

3/8”: 190 psi from 35° F to 100° F
 100 psi at 150° F
 60 psi at 200° F

1/2”: 160 psi from 35° F to 100° F
 100 psi at 150° F
 60 psi at 200° F

Constituent materials: sintered bronze, polyethelene

*brass body

3
1

0
9

3
1

0
8

3
1

9
2

/3
0

0
9

3
1

2
6

3
1

5
1

3
1

3
0

3
1

1
8

/3
0

1
8

3
1

9
9

3
1

6
9

3
1

2
9

3
1

7
5

3
1

0
6

3
6

7
5

3
6

0
9

3
6

0
2

3
6

1
6

3
6

6
6

3
6

3
9

3
6

6
8

3
6

0
4

3
6

0
6

3
8

0
1

3
8

0
5

3
8

8
9

/3
8

9
9

3
8

1
6

3
8

0
2

7
0

6
0

/7
0

6
1

0
9

1
3

0
9

0
1

0
1

6
8

U
1

1
0

 L

0
9

1
6

0
2

0
5

0
6

7
0

/0
6

7
3

 
/0

6
1

0

0
6

7
4

/0
6

1
1

0
6
7
1

0
6

8
3

0
6
8
2

0
2
2
2

U
1

1
5

 L
U

1
1
2
 L

0
9

0
4

0
9
0
5

0
9

0
2

0
9
0
6

0
9
0
0

6
3
1
6

6
3
0
6

6
3
0
2

6
3

0
4

6
3
4
0

9
4
0
5
U

9
4
1
5
U

9
0
8
4

9
0
8
3

0
6

5
9

6
3
2
5
/6

3
5
3

6
3

8
0

6
3
6
6

6
3
8
2

6
3
8
8

6
3
8
3

6
3
5
1

6
5
0
8
/6

3
0
8

6
5
0
5

6
5

7
9

6
3
1
5

6
3
2
6

6
5
2
1
/6

3
2
1

6
3
2
2

6
5
4
8

6
3

0
7

6
5

0
9

6
5
0
3

U
1

0
3

L

7
6

6
0

/7
6

6
9

7
0

1
0

/7
0

1
1

7
7

7
0

7
6

4
0

/7
6

4
5

7
1

0
0

7
3

0
0

/7
3

0
5

7
8

8
0

7
9

1
0

7
9

1
3

7
9

8
2

7
9

9
6

7
8

8
5

7
8

1
8

/7
8

0
8

0
6

6
0

/0
6

6
9

7
1

1
0

4
8

9
5

7
1

0
5

7
7

7
6

7
0

6
5

/7
0

6
6

7
6

6
5

/7
6

6
8 7

0
1

5
/7

0
1

6

3
8

0
6

3
8

0
4

3
6

9
9

3
6

0
1

3
1

0
2

3
1

0
4

3
1

0
6

3
3

0
4

3
1

6
8

3
1

8
2

3
1

6
6

3
1

4
0

3
1
1

6

3
1

3
9

3
1

3
6

/3
0

3
6

3
1

0
2

3
1

0
4

*With screwdriver slot

 ØD BSPP
 4 M5x0.8 3198 04 19 
 6 G1/8 3198 06 10 
 6 G1/4 3198 06 13 
 8 G1/8 3198 08 10 
 8 G1/4 3198 08 13 
10 G1/4 3198 10 13

Male Branch Tee, Metric 

3
1

9
8

Tamper-Evident Safety Clip

ØD1

ØD1

ØD2

ØD1

ØD2

ØD1

ØD2

ØD1

ØD2

ØD1

ØD2

ØD

ØD1

ØD2

ØD1

ØD2

ØD1

ØD2

LF3800 Stainless Steel Push-to-Connect Fittings

Tubing

Liquifit Saftey 
Couplers

Blowgun

Ball Valves

Pneumatic Function Fittings

Accessories Silencers

Flow Control RegulatorsFor Industrial or Food Process Applications

In-line Double Female 
Ball Valve

Fittings for Water and Beverage Applications

Suitable fluids: compressed air
Body: Polymer H.R. or brass, 
depending on the model
Working temperature: from 30° to + 160° F
Working pressure: from 15 to 145 psi

Pressure 
Regulator Fittings

Lock-out  
Valves

Mini Ball
Valves

Quick  
Exhaust Valves

In-line Check Valves

Pneumatic 
Sensor Fittings

Pneumatic  
Slide Valves

BSPP 
 G1/4 0669 07 13
G3/8 0669 10 17
G1/2 0669 14 21

Working temperature: from -4° to 160° F

Working pressure: 15 to 145 psi

Working temperature: 
from 10° to 160° F
Working pressure: 145 psi
Supply (1): the system pressure 
is applied to the inlet port, flow is  
directed to the cylinder port.
Supply (2): the supply (1) is dropped, 
exhaust air in the cylinder is discharged  
directly from the exhaust (2) port of  
the valve.

Working temperature: from -4° to +175° F

Working pressure: 145 psi

 C DN PN
 G1/4 10 30 4902 10 13
 G1/2 15 30 4902 15 21
 G3/4 20 30 4902 20 27
 G1 25 30 4902 25 34

4
9

0
2

C1
C2

C1

C2

C1

C2

C1

C2

C1

C2

C1

C2

C1

C2

C1

C2

C1

C1
C2

M5 1/81/43/81/2

14mm 12mm 10mm 8mm 6mm 4mm

Threads / O.D. of tube

 NPT Meter Out
  1/8  7115 11 11
  1/4  7115 14 14 
  3/8  7115 18 18
  1/2  7115 22 22

Threaded Port Metal

7
1

1
5

 

Double Femaie

Working Pressure: 600 psi
Working Temp: 320° F (maximum)
Material Construction: UNI 5705 -65

Double Female
Ball Valves

NPT Orifice
1/4 .39 4962 60 14
3/8 .39 4962 68 18
1/2 .59 4962 65 22
3/4 .79 4962 70 28
1 .98 4962 75 35
1-1/4 1.26 4962 82 43
1-1/2 1.57 4962 90 50
2 1.97 4962 01 44

4
9

6
2

*  M5:bolt zinc  
 passivated steel

** 10-32: bolt zinc  
passivated steel

*Ultrafine adjustment

Part Number
100 ft  

tubepack

Part Number
500 ft  
reel

Tube OD Tube ID
Working

Pressure*
at 73° F

Minimum  
Burst

at 73° F

Minimum  
Bend

Radius

Clear Clear inch inch psi psi inch
1094P53 00 1098P53 00 1/8 .093 250 1000 .25
1094P04 00 1098P04 00 5/32 .106 300 1200 .50
1094P55 00 - 3/16 .138 250 1000 .63
1094P56 00 1098P56 00 1/4 .180 250 1000 .88
1094P08 00 1098P08 00 5/16 .233 250 1000 1.13
1094P60 00 1098P60 00 3/8 .275 250 1000 1.13
1094P62 00 1098P62 00 1/2 .375 250 1000 1.25

Nylon Tubing

Part Number
100 ft  

tubepack

Part Number
250 ft  

tubepack

Tube 
OD

Tube 
ID

Working
Pressure*
at 68° F

Minimum  
Burst

at 68° F

Minimum  
Bend

Radius

Natural Natural inch inch psi psi inch
- 1096Y04 00 5/32 .106 140 420 1

1094Y56 00 1096Y56 00 1/4 .170 160 480 1
- 1096Y08 00 5/16 .187 190 570 1-1/8

1094Y60 00 1096Y60 00 3/8 .250 165 495 1-1/4
1094Y62 00 1096Y62 00 1/2 .375 120 360 2-1/2

Polyethylene Tubing

Also available in black (01), green (02), red (03), blue (04) and yellow (05). Also available in black (01) and blue (04).

Also available in black (01), green (02), red (03), blue (04) and yellow (05).

Also available in black (01), green (02), red (03), blue (04) yellow (05), gray (06) and orange (07).

Also available in black (01), green (02), red (03), blue (04) yellow (05) and gray (06).Also available in black (01), green (02), red (03) and blue (04).

Part Number
100 ft  

tubepack

Part Number
500 ft reel

Tube 
OD

Tube 
ID

Working
Pressure*
at 68° F

Minimum  
Burst

at 68° F

Minimum  
Bend

Radius

Clear Clear inch inch psi psi inch
1094U53 00 1098U53 00 1/8 .062 267 800 1/4
1094U04 00 1098U04 00 5/32 .093 167 500 3/8
1094U56 00 1098U56 00 1/4 .170 133 400 1/2
1094U08 00 1098U08 00 5/16 .216 148 445 3/4
1094U60 00 1098U60 00 3/8 .250 133 400 1

1094U62 00 - 1/2 .320 150 450 2

Polyurethane 95A Tubing

*3:1 Safety Factor

Part Number
25 meter 
tubepack

Tube 
OD

Tube 
ID

Working
Pressure*
at 68° F

Minimum  
Burst

at 68° F

Minimum  
Bend

Radius

Natural mm mm psi psi mm
1025U04 00 4 2.5 167 500 12
1025U06 00 6 4 133 400 18
1025U08 00 8 6 97 290 24
1025U10 00 10 6.5 150 450 25
1025U12 00 12 9 97 290 48

Metric Polyurethane 95A Tubing

Part Number
25 meter 
tubepack

Tube 
OD

Tube 
ID

Working
Pressure*
at 68° F

Minimum  
Burst

at 68° F

Minimum  
Bend

Radius

Clear mm mm psi psi mm
1025Y04 00 4 2.7 139 419 25
1025Y06 00 6 4 166 500 25
1025Y08 00 8 6 133 400 38
1025Y10 00 10 8 166 500 38
1025Y12 00 12 10 119 360 63

Metric Polyethylene Tubing

Part Number
25 meter 
tubepack

Tube OD Tube ID
Working

Pressure*
at 73° F

Minimum  
Burst

at 73° F

Clear mm mm psi psi
1025P04 00 27 4 2.7 377 986
1025P06 00 6 4 341 1363
1025P08 00 8 6 247 986
1025P10 00 10 8 181 725
1025P12 00 12 10 160 638
1025P14 00 11 14 11 218 870

1025P16 00 13 16 13 181 725

Metric Nylon Tubing

Double Female

Suitable fluids: compressed air, 
for other fluids please contact us
Constituent materials: sand blasted 
nickel-plated brass body – nitrile 'O' rings 
Working temperature: -4° to + 175° F
Working pressure: 290 to 580 psi 

Standard
In-line Ball Valves

Economy 
Ball Valves

 C DN
G1/4 7 0402 07 13
G3/8 10 0402 10 17
G1/2 13 0402 13 21

0
4

0
2

4
9

8
2

 C DN
1/8    .31 4982 58 11
1/4 .31 4982 58 14
3/8 .31 4982 58 18
1/2 .39 4982 60 22Double Female

 C DN
G1/4 4 0492 04 13

Body: nickel-plated brass 
Ball and Stem: brass UNI 5705-65 
Handle: polymide 
Seal & Steam: PTFE 
Working Temp: 200° F (maximum)         
Pressure: 150 psi

www.legris.comPhone: 480-830-0216


